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N
Problem

Exercise

A class of 10 children compete in a 60m race. You record the following
times:

9.25,9.95,10.25,10.75,11.15,11.15,11.4,11.5,11.8,13.58

Calculate a 95% confidence interval for the mean time.
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Step 1: Sample Mean

The point estimator

9.2s

9.9s
10.2s
10.7s
11.1s
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11.5s
11.8s
13.5s
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Step 2: Sample Standard Deviation
5 i m % (xc~%)2

-11.04s squared
92s -1.84s 3.3856
99s -1.14s  1.2996
10.2s  -0.84s  0.7056 )
10.7s  -0.34s  0.1156 © x=11.04
11.1s  006s 0.0036  ofs? = LUXF 12484

11.1s 0.06s  0.0036 D[?Tz 1-387L[
11.5s 0.46s 0.2116 L _J
11.8s 0.76s 0.5776
13.5s 246s 6.0516
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The formula
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Step 2: Using a probability table

From Frisvold and Moe

/3= 95%
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Completing the Solution
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